CHAPTER9
FIELDS AND FENCES

Ques.1 Find the total length of the irregular figure?
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Ques.2 Find the total length of the irregular figure?
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Ques.3 In which of the following situations, the boundary is involved:-
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a) Carpeting of room.
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b) Fencing of plot.
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Ques.4 Charu took 2 rounds of a rectangular park 120 m long and 40 m broad. Find the
distance covered by charu in all?
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Ques.5 Find the total length of this figure?
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Ques.6 Match the following:-
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Ques.7 Find the area of the figures by counting the squares and write the answers below?
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Ques.8 Colour the squares tiles with blue and triangular tiles with red colour?

SRR 2Teet 3l e TT & 3R BT TR i 2TEet i ATeT TT 9 7 |

/

Ques.9 There are two playground of Ramu. Ramu has to fences these playgrounds. Help
ramu to find out which playground need more wire to fence and by how much?
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Ques.10 I have 18 m rope if | had to made a rectangle out of it. Whose length is double of
that its breadth. Find the measurement?
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Ques.11 By counting the squares till whose area is bigger?
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Ques.12 If a piece of paper is divided into 1 cm square then till the total length and total
breadth of the figure?
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Ques.13 The total length of the given figure is 26 cm. Find the length of A?
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Ques.14 Find the cost of fencing a square park of side 150 cm at the rate Rs. 6 per metre?
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Ques.15 If the side of square is 4 cm and we double it then till by how much
perimeter of square change?
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ANSWERS
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fencing of plot.
JHEUE i TRGER] |
9600 m?

9600 HIeT" |

64 cm

&% T |

Trapezium

Rectangle

Circle

e |

11

R

student do it self.
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Rectangular Park and by 14 cm
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Length 12 Cm.
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Ans.12
a) Length 3Cm.

IS 3 99 |

b) Breadth 6 Cm.
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Ans.13 7 Cm.
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Ans.14 Rs.900.
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